INTE - correction

Comptes N Montants
no — — Libellé — —
Débit Crédit Débit Crédit
Produits de
- placement 4.31x34 - 146.55
1 financiers
Banque 146.55 x 65% 95.25 -
IA a récupérer - 146.55 x 35% 51.3 -
Produits de
- placement 34'000 x 1.4% - 476
2 financiers
IA a récupérer 35 % x 476 166.6 -
Banque - 65 % 476 3094 -
Produits de
3 Banque placement 8 x 10000 x 2% x 1.06 1696 1696
financiers
4 Banque IA a récupérer 450 450
Banque Titres 20000 20000
Produits de
5 - placement 20000 x 1% 200
financiers
IA & récupérer 70 -
Banque - 130 -
Charges de
6 placement Banque 540 540
financiers
7 Banque - Dividende net = 65% 500 -
IA a récupérer - 500 = 65%, X =35% 269.25 -
Produits de
- placement 500 + 269.25 - 769.25
financiers
8 | IA arécupérer - 900 =35% 900 -
Banque - 900 =35%, X = 65% 1671.45 -
Produits de
- placement 900 + 1671.45 - 2571.45
financiers
Produits de
9 Banque placement 300000 x 2% x 12.34/100 740.4 740.4
financiers
Produits de
10 Banque placement 17x11x1.08 201.95 201.95
financiers
- Intéréts produits 210
11| IA arécupérer - 210 x 35% 73.5
Banque - 210 x65% 136.5




